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A.Rs 6000
B. Rs 5000
C.Rs 7000
D.Rs 8000
E. Rs 9000

SBI CLERK 2023 (3TIIR o )

Question 16- A person give 1 article free on the purchase of

eyery 15 article, hg also allow a discount of 4% to customer

and still earn 35% profit. Find the marked price of each if
the cost price of each article i1s Rs 6000.

T 16- T Afth Tedeh 15 g3l shl @iia W 1 I&] T ol 2,
I UTesh ohl 4% ol B I Il & JAN THT AT 35% 1 HfSid
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SBI CLERK 2023 (3ITYR &4 )
Question 2- How many kilograms of wheat @er kg
A. 10k P should be mixed w1 o) of wheat of Rs.45 per kg, such
: (= é’t%:a% there may be galn i b@ mixture ‘
£330 kg (P f (SR per kg.
D.40 kg 5’%509%72- 54 R il Tohetl o o feretiam 18 ah 45 %0 gid
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Question 3- The ratio of liquids A to B in three containers of

A.29:42 @15 3:2,7:3and 11 : 4 respectively. The three

B.61:29 containers are mixed together. What 1s the ratio of A to B
C.11:13 after mixing?

D.13:15 GHT ST ATt i sheAll H TR A 8 B Sl 31U SHAIT: 3: 2,
E. None of these 7: 3 3R 11: 4 Bl dHT sheAU QthlTQIﬁIFIWTEH?IT%I fasor =

aT& A 31 B 3T 31T T &7
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A.100

B.170

C.50

D.85

E. ¢ of these
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Question 4- The bowling average of a bowler 1s 12.4 takes 5
wickets for 26 runs and thereby decreases his average by 0.4.

Find total number of wicket taken by him.
T 4- Teh TESTST okl eSS STEd 12.4 8, 98 26 T St 5 Toehe

T § 37 39 TR SHH ?m"ﬁrﬁ STTaT &1 S8 g

foTQ 71T ferehel shT et ST 1A shifsTal
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A. 729./27/1

B. 1000:729
C.729:217
D.729:121

E. None of these
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Question 5- There 1s 80 liter of pure milk 1n a jar. 8 liter of

milk 1s taken out and replaced by water and this process is

repeated 2 more times . Find the ratio 0@ anin

new mixture.

HITe 5- Ueh ST 4 80 1 T[4 g8 81 8 offet g frrehrett Sfrar @
ST T & Tfaseriud foraT STTaT @ 3T 39 JishaT okl 2 91 S80I
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A.1:8 R'gb/ﬂ;

B.&:1

D.1:9

E. None of these
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P

/SFCE’ Question 6-A person have liquid A at cost 90 per liter. In
y what ratio must he mix water so that there is a profit percent

—

@ “\ NN
O =% 12 12.5% 1 o ST aTH A

A U
o Rebe=8
\ @O/ [

&N
’.f.ﬁ; 2 Y- "m

of 12.5% after selling the mixture on its

L ost price.
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Question 7- In a mixture of 140 liter of milk and water , water

A.14 L 1s 10%. How much water must be added to make water 25%
B.15L in the mixture.

C.28L/ T 7- 140 et gur AR Ut o fugor 7, aeft 10% 31 fusor 7
D.30L 25% T ST oh TeTU Toha T T THEATIT STHT STey?
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A.2:1
B.3:2
C.2:3
D.2:1
E. None of these
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Question 8- Two jar contains milk and water in ratio 1:3 and

3:5. In what ratio they should mix so that ratio of milk and

—

water becomes 1:2
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=
% 0O @n 9- Two jar contains two liquids A and B 1n ratio 2:3
A.2:3 /\‘Q\ / ) :5. In what ratio they mixed so that ratio in new mixture
B.5:3 \()6 9 this ratio becomes 7:5.
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Question 10- R$.1550 1s divided into two parts such that if one

A.Rs 700 part 1s lent out at 15% p.3. simple interest and the other at
B.Rs 900 @er annum simple interest, the total yearly interest is
C.Rs 800 RsG00) Then finfirst pas)
D.Rs 750 57 10- 1550 T a0 &1 AT H 36 YehI {TieIq fohaT 74T & Toh
E. None of these e Uch T T 15% TNk FTLRIT SIS UT 3T GC\H\{ T 24%
STk BTEROT SATST 9L JYR foAT ST 2, 1 et aTfNeh sATST 300
&0 2| T 9T 1T @S|
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Question 11- A person bought a table and chair for Rs 2600.
A.Rs 1200 he sells table at 25% profit and chair at 20% profit. On whole
B.Rs 1600

1
he receives 231—3% profit. Find the cost price of table.

C.Rs 1600 HATA 11- Teh =Afth 4 2600 T H Ueh 2oiet 3R HHi @iial| 8

D R ST Sl 25% I T AR FHHT bl 20% ATH T =il =1 Fed
E. None of these
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Question 12- A person have Rs 25 in form of 20 paise and 50

A.30 paise coins. Total coins are 80 then find number of 25 paise
B. 50 coin.

C. 60 T 12- Ueh SAfth o 916 25 &9 & SIT ohl T8efh 20 98 3 50 T8
D.40 o T4k o ®9 0 8l ol ek 80 & dT 25 U o foeh o6l e
E. None of these RIEEAISP]
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Question 13- Two alloys contains tin and 1ron 1s ratio 1:2 and

2:3. If they are mixed in ratio 3:4 then find ratio of tin and

iron in new alloy.

T 13- a1 T anqal | o7 8 37K dle 1 3T 1: 2 3T 2: 3 &)
3fe 3 3: 4 o SIIUTG H THATAT ST =, T 75 7o a1q | o 3R
Lok AR ST AT T hi T

A.14:25
B.10:21
C.12:23
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E. None of these
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Question 14- In two alloys A and B, the ratio of zinc to tin1s 5 : 2 and 3

A 3:4 : 4 respectively. Seven kg of the alloy A and 21 kg of the alloy B are
B 21 mixed together to form a new alloy. What will be the ratio of zinc and
C 12 tin 1n the new all

D 11 3l forer aTq A ST B 1, ST ST {2 o1 ST0Td AT 5: 2 37 3: 4 81 oy

E None of these  ITd A o HTd Tohell ST TH &Td B o 21 Toheil hl Teh €T THATSR Toh 01
121 T ST ST ol T ST H STET ST 31 31U /T e
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Question 15- A person bought two article for Rs 40,000. He sells first

at 10% profit and other at 5% loss. He have 1% profit on whole

A.3:4

B 21 transaction. Then find cost price of first article.

C 12 T 15- T Aich = 40,000 &Y H &1 &4 ©IET| 98 T8t 10% AT 9 AN
D11 O 5% BT T SI=iell €. SH YL A T 1% hT AT BIT &) ol Tt o

%1 hd Hed 1A shifSTT|

E. None of these
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